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ch-PS
hp kW

i
m/min 28 = 76 = 24 = 42 = 56 14> 38— 12> 21 — 28 15 11 200m

t 2,5 2,5 2,5 14 0,8 5 5 5 2,8 1,6
m/min 4 =11 =34 =56 =70 —82 2 =6 =17 =28 =35 =41 25 18 329 m
t 250 2,50 2,500 B4 58 B R0I65H 5 5 5 29 22 13
m/min 23 =61 = 19 = 34 — 46
t 3 3 3 17 095 o | ] s
m/min 36 —96 =30 —48 —60 —72
t 3 3 3 17 13 075 L
tr/min
U/min - rpm 008 75 55
m/min 0—63 5 3,7
m/min 25 2x4 2x29
m/min 12,5-25 2x7T 2x5.2

15 LVF : 25 kVA

400 V (+6% -10%) 50 Hz 25 LVF : 35 kVA

15 LVF 13 Optima 25 LVF 13 Optima 15 LVF 15 Optima 25 LVF 15 Optima
t m/mn + 250, 4 ') m/mn 4
mimn 82 2% \J u +25%  AJ
+25% 70 m/mn 0 72 Vann
56 ' +25% 60
42 34 2 -
24 19 30
08 14 25t 06511 25 t 0% 17 3t 075 13 3t
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